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PAPER -1

GENERAL STUDIES

1.  Which of the following develops immune system in the body ?

(a) Antigen (b) Antibody (c) Enzymes (d) Hormones
2. Which of the following causes Swine flue ?

(a) Virus (b) Bacteria (c) Fungi (d) Tape worm
3.  The main element of protein is

(a) Hydrogen (b) Nitrogen (c) Oxygen (d) Carbon
4.  To which theory of conservation is related the ‘first’ law of thermodynamics ?

(a) Charge (b) Momentum (c) Energy (d) Matter
5. In view of environmental problems, the use of which insecticide has been reduced ?

(a) Gammexane (b) D.D.T. (c) B.H.C. (d D.M.T.
6. By which of the following can petrol fire be extinguished ?

(a) Sand (b) Water (c) Carbon dioxide (d) Saw dust
7.  Fruit ripening hormone is

(a) Ethylene (b) Auxin (¢) Kinetin (d) All of these
8.  Seeds of Sunflower plant contain

(a) Alkaloids (b) Oils (c) Dyes (d) Crystals
9. The ‘parsec’ is the unit of

(a) Distance (b) Time (c) Energy (d) Temperature
10. The first mechanical computer designed by Charles Babbage was called

(a) Abacus (b)  Analytical Engine

(c) Calculator (d) Processor

11.  Which of the following is an example of non-volatile memory ?
(a) Cache memory (b) RAM
(c) ROM (d) None of the above

12. A device that converts digital signals to analog signals is
(a) A Modem (b) A Packet (c) A keyboard (d) None of these

13.  Which of the following is the most powerful type of computer ?
(a) Super-micro (b) Super Computer (¢) Micro Computer (d) Mini Computer

14. Which of the following is used to manage Data Base ?
(a) Operating System (b) Compiler
(c) DBMS (d) None of the above
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1. A9 PN IR § URIgS &adar fasRid &rdr g 2
(a) TS (b) TSt (c) T~IsH (fbvge) (d) BHERA

2. 9 fad gRI I8 U Bl 8 2 i
(a) faumro (b) SIATY (c) ®pal (d) I DH
3. URHAFH I IEE

(a) EIggloE  (b) FTggISH (c) SATRATST (d) e
4. ST IfIB) BT gUH | Geer & g Rigra 9 gefa e 2

(a) I (b) I (c) oIl (d) Uy
5. TATaROT THRART & BRI fhd BIeTd BT WA 64 fhaT ST+ o 8 2

(@ TR (b) SIS (c) d T (d) <rugdl.
6. = fhad gRI UGS ST 1T DI JITAT ST Hebell © 2

(a) Xd (b) U

(c) PIE SIS MRITSS (d) TBSI BT RIE]

7. ol UHT BT EHA &
(a) ARl (b) S (c) WIgied (d) S a4t
8. GROIE g & ISl H g ®

(a) &RIE RIehdZSy) (b) o
() e (@ ot )
9. URUP AHD T
(a) TABI (b) FHI BT (c) oIl &l (d) TIHH BT
10. =T 9991 gIRT FSSIS fohaT I-T 9 Aid SR BTl AT
(@) TIhY (b) UATfEDH o
(c) heigerey (d) "R"R
11. 9 QS |1 AA-aIdesd Wi 6T ISR 8 2
(@) HdHANI (b) ¥ (RAM)
(c) <M (ROM) (d) SR H A DI T2 |
12. fSRica REa &l T e § aRafdd &3 &1 gfad 2 _
(a) dISH (b) Ude () drdrs (d) ST B TRl

13. =1 9 | B9 A1 3T eAfRTLATA THR BT ISR & 2

(@) JR-AGH (b)) YRBYSRX  (c) HEHI HYeX  (d) it drgex
14. ST B TS B & [0 $99 | fhadst T foom e g 2

(a) SITRFET ReH (b) HHZAR

(c) SI.d.uHTd. (d) ST H A DI Tl
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15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

26.

27.

The term ‘Pentium’ is related to
(a) DVD (b) Hard Disk (c) Microprocessor (d) Mouse

What type of process creates a smaller file that is faster to transfer over the internet ?
(a) Compression (b) Fragmentation
(c) Encapsulation (d) None of the above

‘ALU’ stands for
(a)  Arithmetic Long Unit (b)  All Longer Units
(c) Around Logical Units (d)  Arithmetic and Logical Unit

Which of the following is not an input device ?
(a) Mouse (b) Light pen (c) Keyboard (d VDU

In which generation of computers, transistors were used ?
(a) First (b) Second (¢) Third (d) Fourth

Which one of the following rivers crosses the Equator twice ?
(a) Zaire (b) Amazon (c) Nile (d) Niger

Which of the following pairs (country-capital) is not correctly matched ?
(a) Brazil — Brasilia (b) Tunisia — Tunis
(c) Algeria — Algiers (d) Morocco — Marrakech

What is the correct north-south sequence of the states of India along the Myanmar border ?
(a)  Arunachal Pradesh, Nagaland, Manipur, Mizoram.

(b)  Arunachal Pradesh, Assam, Nagaland, Manipur.

(c) Assam, Nagaland, Manipur, Mizoram.

(d)  Arunachal Pradesh, Manipur, Nagaland, Mizoram.

Which of the following countries is called the ‘Land of Thousand Lakes’ ?
(a) Sweden (b) Canada (c) Poland (d) Finland

Which of the following countries is famous for livestock ranching in the world ?
(a) Brazil (b) Colombia (c) Argentina (d) Venezuela

With which of the following countries does India have its longest International boundary ?
(a) China (b) Pakistan (c) Bangladesh (d) Nepal

As per 2011 census, which of the following states had the highest literacy rate ?
(a) Mizoram (b) Goa (c) Himachal Pradesh (d) Tripura

Which of the following mountain peak is not located in Uttarakhand ?
(a) Kamet (b) Banderpunch (c) Doonagiri (d) Nanga Parbat
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15. “Ufcawy e qHaid g

(a) SIS (b) @IS fewp (c) HEHERHER  (d) HSH

16. 5 dRE BT UhH BIC] BIgd I &, NTIRT $7ex-c IR WIFTRT g SIdT 8 ?

(a) BHIE (b) SFTHIM

OIERERSNE] (d) ST H A DI Tl
17. YUA Y P AT T

(a) URemIfes dRTYfTe (b) 3 AR gFeH

(c) TRISTE il fcH (d) UReEfEH Yue ATDhd e
18. T H A B e fearsu g 8 2

(a) =™ (b) dRCUYT (c) dIars @ d=Y
19. HRYER DI (6F YTt H TITORERT BT T §aAT AT 2

(a) UEell (b) T (c) =T (d) dref
20. frforRaa ATl | B W) 7T YHE T Bl ST IR YR B 8 2

(a) R (b) 3O (c) (d) TR
21.  f=forRaa gt @er-xrsren) | ei= gaferd T81 8 2

(a) SISl — SRR (b) <gFRmE- g

(c) TcoNRAT — 3resTTd (d) FRFPT — ARTHI

22, WIHAR B AHT & FER YR & 9] BT SR | SeT01 BT Fal HH T 8 ?
(a) 3TV Y el NI, AR, FASIRA
(b) STV Y9, 3, NI, HIOTYR
(c) 3gH, ANTCIvS, AR, FASIRA
(d) 3BT Y 9T, AR, AN, fASIRA

23. ffoRad 9N & 9 fhd B9IR SNell &1 9 HaT AT 8 2
(a) e (b) HTST (c) drIvS (d) fbTeivs

24. FFATARIT <20 H A I UMERYT &6 foly fawa ulag & 2
(a) ol (b) IR (c) 3rSifees (d)  dToqge

25. fr=faRad <o § 9 fhad A1 YR B e o] SRS T AT 8 2

(@ N (b) YT (c) divaTeer (d) AUt
26. 2011 I STVAET & AR RIS Ira1 H A fhaeh! e - & qaiered ot 2
(a) fAoiRs (b) Mar ¢ fameyes (@ B

27. Wﬁ%ﬁﬁ-ﬁ@ﬁﬁﬁmwﬁ%ﬁ%?
(a) HEC (b) TF<RYD (c) TR (d) " mudd
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28. As per United Nations’ 2015 estimate, how much will be the world population by 2030 ?
(a) 8.2Billion (b) 8.5Billion (c) 8.8 Billion (d) 9.1 Billion

29. At which of the following coasts of India is the average sea level measured ?
(a) Mumbai (b) Chennai (c) Cochin (Kochi) (d) Vishakhapatnam

30. Which of the following statement is incorrect ?
(a) The Godavari is the largest river of South India.
(b) The Kosi River is called the ‘Sorrow of Bihar’.
(c) The Brahmaputra is an antecedental river.
(d) The Ganges originates from Gangotri.

31. Which of the following pairs (State — date of formation) is correctly matched ?

(a) Haryana — 01 November, 1966 (b) Mizoram — 25 June, 1986

(c) Telangana — 15 August, 2014 (d) Chhattisgarh — 20 November, 2000
32. Which of the following States is the largest producer of pulses in India ?

(a) Madhya Pradesh (b) Uttar Pradesh

(c) Maharashtra (d) Rajasthan

33. Which of the following country has the largest reserve of Bauxite of the world ?
(a) India (b) Russia (¢) Surinam (d) Australia

34. Which of the following State has the largest forest area in India ?
(a) Chhattisgarh (b) Maharashtra (c) Madhya Pradesh (d) Andhra Pradesh

35. In which of the following year the ‘National Population Policy’ (NPP) was announced in

India ?

(a) 1999 (b) 2000 (c) 2001 (d) 2002
36. The ‘World Population Day’ is observed on

(@ 11™April  (b) 11" May () 11" July (d) 12" August
37. Who propounded the ‘Mobility Transition Model of Migration” ?

(a) Lee (b) Clarke (c) Ravenstein (d) Zelinsky
38. Which of the following pairs is not correctly matched ?

(a) Tharu — Uttar Pradesh (b) Gaddi— Himachal Pradesh

(c) Konyak — Kerala (d) Toda— Tamil Nadu
39. Asper 2011 census, which of the following states of India had the highest sex-ratio ?

(a) Karanataka (b) Kerala (c) Uttar Pradesh  (d) West Bengal
40. Which of the following is called ‘“Heart of the City” ?

(a) Central Business District (b) Zone of Better Residence

(c) Zone of Better Social Amenities (d) Commuters’ Zone

Series-A 6 SPR



28. WY ST b 2015 & Aol b IFAR 2030 H [2q Bl STEEAT fha=l 8l St 2
(a) 8.23Rd (b) 8.53Rd (c) 8.83Rd (d) 9.13Rd

29. WRA & TR Tci H A o IR i1 FHslel AT STl © 2
(a) Yws (by TS (c) rEH @) (d) fawmEmeTH

30. frAfaRed FUT AT B TeAd § 2
(a) TETA] SfE0T YR & Fe0 o1 a1 B |
(b) IS Bl S8R BT NP HETSATAT S |
(c) S=IYH U dad a1 ¢ |
(d) I T TE | et B |

31.  FfoRaa gt (rsa — fmior ot fafen 3§ o gofea 8 2

(a) BRAOM-01 TIHR, 1966 (b) TASIRH — 25 5[, 1986

(c) ST - 15 3R, 2014 (d) BTG — 20 TIFR, 2000
32. fr=faRad =1 § &9 YR H STl BT FdIedh SIS H & ?

(a) FIYSIY (b) SIRYSY (c) WHERTY (d) oI
33. fo=faRad on 9 9 fhgd g faeg o1 aifdie siedrse ol Gid 9resR & 2

(a) YRd (b) =4 (c) ™ (d) 3rferan
34. for=faRad sl # fhdet a--871 YRd § HaiSd § 2

(a) BING (b) HERTS (c) HAT U (d) IS
35. fr=faRed & 9 fed o YR § I STt ifd (NPP) &1 Eleor & 778 2

(a) 1999 (b) 2000 (c) 2001 (d) 2002
36. “fava S=EReT foas 7RI ST ©

(@ 113w (b) 119s (c) 119cTs (d) 12 A
37.  “UArIA B1 Afeiierdl A Aree s ufaurfad foar o 2

(@) < (b) TFITH (c) I (d) Sife=aar
38. frferRad il § 9 o= gafora 781 € 2

(a) UATH — IR IS OIEECIE I CREEN

(c) PIIPD— I (d) <reT-afaArg
39. 2011 I ST & AR HRA b FrfelRad 1odl # f6aH i formgur (@i-

STUTC) AT ?

(a) PACH (b) B (c) SRV (d) UfFaq &
40. RIS TR BT @I HRTSAT 8 2

(a) P=ig AR & (STem (b) ER 3T &

(c) UBR MG gagreiaraners  (d)  Fcufe rarsie! g e
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41.

42,

43.

44.

45.

46.

47.

48.

49.

Who made the Functional Classification of Indian Cities ?
(@) R.L.Singh (b) G.S. Gosal (¢) Ashok Mitra (d) A.B. Mukherjee

The National Award for Child Welfare was instituted in the year
(a) 1996 AD (b) 1979 AD (c) 2008 AD (d) 2014 AD

The term ‘Ecosystem’ was first used in 1935 by
(a) Taylor (b) Clark (c) Tansley (d) Lindemann

Which of the following states incorporated ‘Environmental Education’ as a subject in
school curriculum for the first time ?

(a) Uttarkhand (b) Maharashtra (¢) Kerala (d) Rajasthan
The main reason of Ozon depletion is

(a) Carbon Monoxide (b) Carbon Dioxide

(c) Hydro Carbon (d) Chloro-fluro Carbon

Which of the following canal is responsible for land-degradation in Rajasthan ?

(a) Ganga Canal (b) Sirhind Canal

(¢) Indira Gandhi Canal (d) Agra Canal

‘Bio-Diversity’ is

(a) Totality of all species, all genes and all ecosystems.
(b) Variety of plants

(c) Variety of animals

(d) Totality of cultural environment

Which of the following is responsible for acid rain ?
(a) Nitrogen oxide and Carbon dioxide

(b) Nitrogen oxide and Carbon monoxide

(c)  Sulphur dioxide and Nitrogen oxide

(d) None of the above

Match the following with the given code
Plant Climatic Region

A. Megatherm 1 Tundra Region
B. Mesotherm 2. Equatorial Region
C. Microtherm 3.  Tropical Region
D. Hekistherm 4 Temperate Region
Codes :

A B C D
(a 1 2 3 4
(b 1 3 2 4
(c) 3 4 2 1
d 2 3 4 1
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TR TRT BT BrATcHD dHTHRT foha= fohar 2 2
(a) QMRTAFFE (b) SNTHE.MEA  (c) 3eN®d =T (d) QEL Sl

TSl BTN & [Ty T YRIEBTR AT fhaT 17 o
(a) TT1996%H (b) WI1979SH () HI20088H  (d) WI20145H

GRAT (THIRICH) I8 BT UH TN 1935 H fohdds gRT fovam 71y 217 2
(a) TR (b) T (© vl (d) fomsma

g T 7 Faged qITaxofiy e &l U fawy & wu § faemerlt ureasmg § aferferd
fopar 2

(a) SRETS  (b) ¥HERTS (c) R (d) TR
SIS BRI BT U BRI §

(a) BIE HIFIRITRITSS (b) HEA TS ATFSS

(c) TISSIHET (d) FARIFRI BT

FrforRad TeRT 3 1 HIF TR 3 YH-&R1 & foly ITRERN B 2

(a) TR (b) g T8%

(c) SfaxTme Te (d) 3R TER

Stg-fafaerar &

(a) Fqol goTTfera, aegot S g ol aRRd= &1 3T |

(b) Ul ! fafderar

(c) STVl @I fafderan
(d) Rl qATIROT BT I |

1 5 9 3rt-al & foly B9 STReRiT & 2

(a) HATSCINI JTFATSS TAT BT SIS S
(b) FTSEIS JATRATSS TAT BIEH AT RIS
(c) TPBX STe RIS S AT ATSC I RIS S
(d) ST HF DI T2l |

faq g e 3 FforRae Bl GHferd BTy ;
RICE] NREIDEEN
A, T 1. CUgIuey
B. WM 2.  YHERIE IS
C. HEHIYH 3. I BCTHIIQ
D. Bfdved 4. <A sfega gaw
PcC:
A B C D
@ 1 2 3 4
® 1 3 2 4
c) 3 4 2 1
d 2 3 4 1
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50.

S1.

52,

53.

54.

5S.

56.

57.

58.

With which of the following is the Central Government’s “Stand-up India’ scheme to
promote entrepreneurship?

(a) Women and Minorities (b) SC/STs and Women

(¢) SC/STs and Minorities (d) All of the above

On which of the following routes will India’s first Bullet Train run (upto 2024) ?
(a) New Delhi — Ahmedabad Route

(b) New Delhi — Mumbai Route

(¢) Ahmedabad — Mumbai Route

(d) Pune — Ahmedabad Route

Which of the following State has been declared as ‘India’s first State to have adopted
organic farming ?

(a) Tripura (b) Sikkim

(¢) Arunachal Pradesh (d) Nagaland

Who created a new world record in scoring the fastest century in Test Cricket history in
February, 2016 ?

(a) Steve Smith (b) Chris Gayle

(¢) Brendon McCullum (d) Virat Kohli

The multi-billion dollar project TAPI on which work started in December, 2015 is related
to

(a) Natural Gas (b) Solar Energy

(¢c) Road Construction (d) Railway Line

The year 2016-17 will be observed by SAARC nations as
(a) Year of Democracy and Development

(b)  Year of Fight Against Terrorism

(c) Year of Cultural Heritage

(d) Year of ‘Save the Earth’

Aung San Suu Kyi was barred from swearing in as the President of Myanmar because
(a)  She has a criminal record.

(b) Her party did not win absolute majority in elections.

(c) The military installed its own President.

(d) Her sons are British Citizens.

Due to the outbreak of which virus did the WHO declare a Public Health Emergency of
International Concern in February, 2016 ?
(a) Zika (b) Ebola (¢) Swine Flu (d) Chikungunya

Which of the two European cities were the vitims of IS terrorist attacks in November,
2015 and March, 2016 respectively ?

(a) London and Brussels (b) Paris and Brussels

(¢)  Frankfurt and Brussels (d) Copenhagen and Brussels
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50. SerTRMTEdT & UICHTET B 78 AXPR Bl IS 377 S0SIT ArSHT 14 H ¥ foras waferd
g7
(2) TR d e HeSH
(b) S SATfcl/ ST gd Afg ey
(c)  STIGfI ST/ ST Ud 37ed Heddh

(d) S a4t
51.  WRd B YA ol ¢ (2024 ) 791 3 I {5 AT R Slel 2
(a) s faoell - sr@v9eETE a1 (b) g faoell — grag AT
(c) IIBHSIEIG — g AN (d) YUl EHGEIE AN
52. =1 st H O T YR 15y Bl Sifdd Wl B aTell Y2 159 g1y fham g 2
(a) g (b) Fafees
(c) 3oUIEd el (d) NITS
53. XA, 2016 H fhad e¥< fehdhe & Sfae™ H 9w I Idd 94911 &1 favg Rers a91T 2
(a) ¥<IaRuY (b)y feparat
() s HBGH (d) fIRTEC BrE
54. 9% 3R SIaR RIS AUl ST f&qw@R, 2015 H U™ gs, G4 2
(a) Tplad A (b) TGRSO
(c) TSH FATH (d) NId sy
55. 99 2016-17 &I ATDH ST gIRT HTAT SITUT
(a) Ahd= Ud fadmrT &1 a9 (b) 3w & fI5g TSTs T Iy
(c) WPl =TI BT a9 (d) g =R 99

56. 37T A G DI WHR &I IR & 19 H 29 TS0 81 DR UTs, Riffh
(a) STPTATRITD RPTS B |
(b) ST UICT T H YUl ggHd T8 YTl HR Fabl |
(c) ST 9 e Q1Y R Uy AT o foram |
(d) STbgFRRTANRE E |

57. BRA, 2016 ¥ {59 IRRY & SR fIvg WRY ST 7 IR FTdoid Ry
‘3muret AT B} ey Bt ot 2

() it (b) gdTelm (c) TS U] @) Fregfrn
58. BIF Y &I GRIUII 2ER HHLN: TIWR, 2015 TAT A4, 2016 H 3M15.UH. b 3Dl g9l &

RrepR U 2

(a) o< 3IR g (b) URY IR FAE

(c) hdpwe 3R A (d) PIUTA 3R gA
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

Which of the following cities are hosts for 2016 and 2020 Olympic Games, respectively ?
(a) Rio de Janeiro and Tokyo

(b) London and Rio de Janeiro

(c) Tokyo and Rio de Janeiro

(d) London and Tokyo

Which state had the highest per capita income during 2014-15 ?
(a) Kerala (b) Haryana (c) Punjab (d) Uttarakhand

Who is the Vice Chairman of the NITI Ayog of India ?
(a) Raghuram Rajan (b)  Arun Jately
(c) Arvind Panagariya (d) Rahul Gandhi

Manodaya Kavya was composed by
(a) Bharat Kavi (b) Maularam (¢) Bhushan (d) Gumani Kavi

The rank of India in HDI according to Human Development Report-2015 of UNDP was
(a) 128 (b) 134 (c) 130 (d) 132

The ‘Closed Economy’ is the economy in which
(a) Only export takes place. (b) Budget deficit is less.
(c) Only import takes place. (d) There is no foreign trade.

The National Institute for Rural Development (NIRD) is situated in
(a) Shimla (b) Hyderabad (¢) Dehradun (d) New Delhi

‘VAT’ is imposed

(a) Directly on consumer.

(b)  On first stage of production.

(c) On all stages between production and sale.
(d)  On final stage of production.

What is ‘Super-301° ?
(a) Modern computer (b) A variety of rice
(¢) An insecticide (d) American Trade Law

Who is called the Father of White Revolution in India ?
(a) Dr. Norman Borlaug (b) Dr. M.S. Swaminathan
(c) Dr. Verghese Kurien (d) Dr. William Gande

Which of the following taxes in India is collected by Panchayats ?
(a) Sales Tax (b) Custom Tax
(¢) Land Revenue (d) Tax on local fairs
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

SPR

(= 5 9 B O B8R HAT: 2016 AT 2020 & NARID Woll b FoldT 8 2

oTe 3R Ry fs S==1

T 3R <IeRl

(a) RIS TR AR TR (b)

(c) CIHaI 3R RIS S=RI (d)

2014-15 &1 G H fha X150 BT Ui faa g Aaifers off 2
(a) BRA (b) BRamn (¢ T

TR § N STINT BT IUTEeT BIF © 2

(a) YYRM IS (b)

(c) SRfaws g=IfSa (d)

ST BT DI AT B 2t

EIC! (d) SIRETS
3BT SICel

NEERL

T (d) THEFI B

J.TA.U1S). Bl g Saaqd RUIE-2015 b AR AT [THRT i H IR BT T

(a) WA B (b) HIARM (c)
Q,'n'_

(a) 128 (b) 134 (©)
g I ART I8 rJ T 7, o

(a) P TATTBIATR | (b)
(c) PAAIJATTEIATE | (d)
TSR TTHYOT farpTy =erm= (NIRD) fRra &

@ REerd (b)) BEREEH (©)
I AT

(a) Y IUATRT TR

(b) UG & Ugel TR TR

(c) SUTeH Ud fashd & Heg |4 IRl IR
(d) TG & 3If<TH TR IR

GUR-301" FAT T ?

(a) 3MYFTDH HYC (b)
(c) PRI (d

TR § 3dd hifdd BT STb [hah] Hal STl & ?

130 132

(d)

golc UICT Y BIAT S |

faeft AR T BT & |

EENEUE (d) ¥ feeeld

I I U [h
3HR®T ATAR BT

(@) I FARAA IRANT (b) SI. TH.TH. WM
(c) <.l PpRIT (d) Sl fafergg =
TR H GArId gRT 91 5 9 B9 91 B Fufad fhar Srar g 2
(@ fIprax (b) ST YD
(c) Y- (d) A R B
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70. Arrange the following movements of Mahatma Gandhi in the right order from the
beginning
(a) Champaran, Ahmedabad, Kheda, Non-cooperation.
(b) Ahmedabad, Champaran, Kheda, Non-cooperation.
(c) Kheda, Champaran, Ahmedabad, Non-cooperation.
(d) Non-cooperation, Champaran, Kheda, Ahmedabad.

71. What was ‘Sangam’ in ancient India ?
(a) Sangha or Mandal of Tamil poets.
(b) Tamil King’s court poets
(¢) Tamil settlement
(d) Mesolithic graves

72. Who built the Khajuraho temples ?
(a) Vijainagar Kings (b) Bahmani Sultans
(c) Chandel Kings (d) Gupta Kings

73. The real name of Sabarmati Ashram ?
(a) Gandhi Ashram (b) Satyagraha Ashram
(¢) Finiks Farm (d) Dandi Ashram

74. From 1906 to 1920, the role of Md. Ali Jinnah during freedom struggle of India was
(a) Separatist (b) Fundamentalist
(c) Nationalist (d) Nationalist and Secular

75. Dr. B.R. Ambedkar published three periodicals for the safeguard of Dalit rights. Which of
the following is not one of them ?

(a) Mook Nayak (b)  Wahishkrit Bharat
(c) Wahishkrit Samaj (d) Equality Janta

76. By which date did the British Government declare to grant India full self Government ?
(a) January 26 1946 (b) August 15, 1947
(c) December 31, 1947 (d) June 30, 1948

77. The first Sultan who started the work of translation of Hindu Religious texts into Persian
Language, was
(a) Iltutmish (b) Alauddin Khilji
(c) Mohammad-Bin-Tughlaq (d) Firoz-Shah-Tughlaq

78. Which was the highest gold coin in the reign of Akbar ?
(a) Ilahi (b) Jalali (¢) Shahanshah (d) Asharfi

79. Who started the ‘Silk-route’ (Marg) for Indians ?
(a) Kanishka (b) Harshwardhan (c¢) Ashok (d) Fahien
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73.

74.

75.

76.

77.
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79.

SPR

HETHT MiEht & FfeTRad st & TR™ & el Y § IafRAyd HIfY |
(a) TR, ABHSETE, WS, SIS
(b) ITEHAGTEIE, TR, WS, RIS
(c) TSI, IR, JEHGIEIG, IS
(d) SIS, TR, WeT, AZHIIIG

T HIRT H A a1 97 ?

(a) <freT BfIAT BT Fg JTAvS A (b) <fEreT IToTTRI & SRERY B
(c) df¥ref st (d) FTETITSIOT Bl

GORTE! Af+aR fHd g7a1y 9 2

(a) fIoTI=R TSRt A (b)  STEH Gl

(c) Tl TSI A OERSHEISIE

ATIRHACT JMSTH BT IIRATd D 19 AT

(a)  ITeEY 3TsTH (b) AITUE 3TH
OREIRCA RN d) Tl (ST s

1906 W 1920 & HEY HI.3Tel ST BT YfHehT HIRT b Tl Hoy (FUT) 7 o
(a) 3fefTTgdra! (b) THT=N

(c) TgaTal (d) ITsedrel Ud gH-fARYer

Sford S RT Bl YRe & fo7y <. d1.871R. 3FdSdR o dIF afrV ferell | =1 | 31 1
ITH A T 81§ 2

(2) ¥ IR (b) dlEHd WRd

(c) dlEpd FHIS (d) sHETfIT STal
fafeer ARBR =1 {5 fT1r T AR D1 IUT TR < DI GO i A 2
(a) 26 AR, 1946 (b) 15 3T, 1947

(c) 31fauwR, 1947 (d) 30 3fT, 1948

a8 o<, FoT e IR fevg eH-T7eli 1 B! 19T H SigdTe BRI BT BRI TR feba
o

(a) goqdrael (b)  INATSEA Raeroir

(c) YBHIe-fa-qirers (d) fORIer-emme T

3R &b ATHA-DTSA H FIH TSI W51 i AT 2

(a) Sofrel (b)  STefTed] (c) T8I (d) 3ER®I

TR & foTT Ried AT fora=r == fopam o 2

(a) PfTH (b) BYgET (c) 3reNH (d) IRI™ (BTEI™)
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80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

‘Privy Purse’ was related to whom in the Post-Independence period ?
(a) Landlords (b)  Former kings (¢) Industrialists (d) Indio planters

Who nominates the 12 members for Rajya Sabha in India ?
(a) Prime Minister (b) Chief Justice
(c) President (d) Vice President

In the Constitution of India, the Residuary powers are entrusted to
(a) State (b) Centre
(c) Both (a) and (b) (d) None of the above

By which Constitutional Amendment, the subject of ‘Education’ was transferred from
State list to concurrent list ?

@ 5° (b) 9" © 42 (d) 44"

Which of the following state does not have ‘Legislative Council ?
(a) Uttar Pradesh (b) Maharashtra (c) Karnataka (d) Uttarakhand

The concept of Public Interest Litigation (PIL) originated in
(a) United Kingdom

(b) Australia

(¢) United States of America

(d) India

The Constitution of India declares India as
(a) A voluntary Federation (b) A Confederation
(¢) A Union of States (d) A Federation

Who settles the dispute regarding the election of the President of India?
(a) Supreme Court (b) Election Commission
(¢) Parliament (d) None of the above

Who propounded the theory of ‘Economic Drain’ ?
(a) M.K. Gandhi (b) Jawahar Lal Nehru
(c) Dadabhai Naoroji (d) R.C.Dutt

The first ‘Lokpal Bill’ was introduced in the Parliament of India in
(a 1971 (b) 1967 (c) 1972 (d) 1968

The first book written by M.K. Gandhi was
(a) My Experiment with Truth

(b) Hind Swaraj

(c) India of My Dreams

(d) Key to the Health
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SPR

TIAHAT & UL T o fohay wart=ery 201 2

(a) SHIGR (b) gARTS

(c) SURTUfY (d) T IS (HYD)

TR H ISI-FHT & fTT 12 TS} BT 7T DI BT 8 2

(a) 9 HAT (b) T =TT

(c) ITeyfa (d) SI-TEYfT

TRT & Afaem= A srafdre wfeqar g €

(a) XTSI P (b) =Dl

(c) (a)TAT(b) TSI P (d) ST H A DI Tl

feh AT Seg & gIRT [R16T &7 w7y Gl A FHI T G Dl AR [T 7137 2
(a) Urad (b) g (c) AT (d) TATeiNTd
ferferRaa wroal # ¥ T faum™ uRug T8 8 2

(a) SWR-USY (b)) HERTS (c) PACH (d) SRRITS
ST ITFIDT DI AR BT ATGHIT FT

(a) gAgcs fhmsad (b) omferard

(c) eI T IHRBT H (d) YRJH

TR BT Gl IR BT GINd Bl &

(a) w@%ﬂsw (b) TP UR¥H

(c) TSNP VP e (d) TS

HIRT &b ULt & A1 G-l fId1e BT FUSRT D19 BRaT & ?

(a) dTed <A (b) foates smam

(c) &g (d) ST H A DI T2 |
3MTfSres F19T° (Economic Drain) RigT= &1 ufcrare foosa= fovam e 2

(a) QAP e (b) STATER AT 8%

(c) SIS FRIS (d) oR.ML.Ed

IE T “SAThuTe el AR B W1 | IR fepam

(a) 1971 H (b) 1967 H (c) 1972H (d) 1968 H
T AT gIRT fordl 718 Ugell gdia off
(a) TS TRTURH= fdg g b) o R
() SivSATSHTH Ag S d) BT
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91.

92.

93.

9.

9s.

96.

97.

98.

99.

100.

The main object of a ‘Budget’ is

(a) To ensure Accountability

(b) To serve as a tool of Management
(c) To facilitate Economic Analysis
(d) All of the above

‘Parliamentary form of Government’ functions on the principle of
(a) Separation of powers

(b) Checks and Balances

(c) Close relationship between Legislature and Executive

(d) Control of Judiciary on the Executive

The ‘Zero Hour’ in the Parliament of India starts at
(a) First hour of the sitting (b) Last hour of the sitting
(¢) At 12.00 Noon (d) At any time

Which part of the Constitution of India is related to the ‘citizenship’ ?
(a) 1O (b)y III (c) 1V d Vv

(2.39)2 - (1.61)% .
239-161 ©
(@ 2 (b)y 4 (c) 6 (d 8

The value of

If0.75 : X ::5: 8, then value of X is
(a) 1.12 (b) 1.20 (c) 1.25 (d 1.30

The average age of a class of 22 students is 21 years. The average age increases by 1 year
when the teacher’s age is also included. What is the age of the teacher ?
(a) 48 years (b) 45 years (c) 43 years (d) 44 years

A man has some hens and cows. If the number of their heads be 48 and the number of feet
equal to 140, then the number of hens is
(a) 24 (b)y 25 (c) 26 (d 27

If 20% of a = b, then b% of 20 is the same as
(@) 4% ofa (b) 5% ofa (¢) 20% of a (d) 25% of a

Mahesh sells 18 eggs at the price for which he bought 20 eggs. Find his profit or loss
percentage.

1 1 1 1
(a) 11 5% loss (b) 11 5% profit (c) 11 5% loss @ 11 5% profit
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91.

92.

93.

9.

9s.

96.

97.

98.

99.

100.

SPR

FoIC’ BT & e BIAT &
(a) SIEQE! GAREad B (b) USEF & I & 9 H BRI HRAT
(c) 3N fageryor &g Ffaar <= (d) Suga e

TR AR I R R PRI AR 8, T8 8
(a) wIfaTal o1 fauree

(b) 3P VT A<

(c) faenfrer vd sriurfere § af s v
(d) —ITIUTfTHT BT BRI TR UR fRi=or

IR B S Y Dol Yo Bl &

(a) d5% & UEe UH IUC H (b) I8P & 3Af<TH TP TS H
(c) TIUSR 12.00 g% (d) ot i a9

TR AT BT DI AT IR ARIRGAT H T 8 2

@ | ®) (c) IV d V
(2.39)2 — (1.61)?

239 161 PIAME

(@) 2 (b) 4 (c) 6 (d 8

IfT0.75:X::5:8, AXBIANE :
(@ 1.12 () 1.20 () 1.25 (d 1.30

Teh el o 22 fIemfSal o) sl 3mg 21 a9 & | fR1ere al 31y AfRford SR+ uR 3R 311y
H 1 g9 Bl gig &1 STl & | R1e7eh bl g T8 2

(a) 487y (b) 4599 (c) 4399 (d) 4499

T ATSHI & T B AT SIR TR & | S I7dh NI D1 AT 48 AT IRT o1 A1 140 &
EREREISI K [RIDIICIRCEC R

(a) 24 (b) 25 (c) 26 d 27

IS a BT120% b P IRTEX & d9 20 BT b% = H A foogh Ga & :
(a) a®d 4% (b) adb5% (c) adb20% (d adb25%

729 F R § 20 270S WIS Id- § G 18 70 9 | IHBT AT IT BT BT Ufererd S1d
IR |

1 1 1 1
(a) 115%3Tﬁ (b)  113% @M (c) 115%3Tﬁ (d)  11g% o
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101.

102.

103.

104.

10s.

106.

Count the number of squares in the figure given below :

(a 8 (b 12 (c) 15 (d) 18

It ‘light’ is called ‘morning’; ‘morning’ is called ‘dark’; ‘dark’ is called ‘night’; ‘night’ is
called ‘sunshine’; then normally when do we sleep ?

(a)  Sunshine (b) Night

(c) Dark (d) Morning

A family has a man, his wife, their four sons and their wives. The family of every son also
has 3 sons and one daughter. Find out the total number of male members in the whole
family.

(a 5 (b) 10 (c) 16 (d 17

K is the brother of N and X. Y is the mother of N, and Z is the father of K. Which of the
following statements is not true ?

(a) KissonofZ.

(b) Y is wife of Z.

(c) N is always the brother of X.
(d) Zis the father of X.

In a row of 30 girls, when Shivani was shifted to her left by 6 places, her number from the
left end of the row becomes 8. What will be the number of Urvashi from the right end of
the row, if Urvashi was 4 places to right of shivani’s original position ?

(a 120 (b) 130 (c) 14" (d) 16"

Select the missing figure from answer figures.
Problem figures :

>,
BB
Answer Figures :
< QD [ 2| 0>
1t | o) Rpd) | et
@ 2 3 )
(a) 4 (b) 3 (c) 2 d 1
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104.
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106.

SPR

frfoRad R 4 gt feam avi &

(a) 8 (b) 12 (c) 15 (d) 18

IS UBIRT BT IS Hed ©; GI& DI SFERT; N B [AT; A B gd; Al
AHTIA: 89 $d Al © 2

() U (b)y d

(c) 3TERT (d) 98

U IRIAR H T IMSHI, SHB] Tl, 3¢ IR 9¢ 3R S6! uferar & | IRIR & Idd o
& o d¢ 3R U 91 & | IRAR H G4 JoU1 1 AT 91 DIt |

(a 5 (b) 10 (c) 16 d 17

KNSR X BTUTS T 1Y, N B AT 8 AR Z, KBTI U1 & | F9=1 9§ A BI9 1 U Jel T8l & 2
(@ K Z®HIIAT I b)) Y,ZHIE |
(c) NHIT XBIHST | (d ZX®HIROareg|

30 TSfhal o U Ufekt H, R 319 HeT T ¥ 6 W 91 3R Rgwyae! &, 1 91 4
IPT W 8 d § | I Pl &Y I T I B, Al 3420 BT Ho w1 Rraril & o
QAT ¥ 4 AT SR 3R 7 2

(a) 12 (b) 13 (c) 14 (d 16

e o H | o, SR e § 9 gy |

EEERCER

<>
BV
Wﬁﬁr:
| QD | < | 0>
BB
@ ) A3) “
(a) 4 (b)y 38 (c) 2 (d 1
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107. Raman borrows I 12,000 for 3 years at 10.5% per annum simple interest; while Rahul
borrows the same amount for the same period at 10% compounded annually. Who pays
more and by how much ?

(a) Raman,I 132 (b) Raman,% 145 (¢) Rahaul,¥158 (d) Rahul, %192

108. The mean of the ages of father and his son is 27 years. After 18 years father will be twice
as old as his son. Their respective present ages are

(a) 42,12 (b) 40, 14 (c) 30,24 (d) 36,18

109. The next term in the series is :
B2E, D5H, F12K, H27N, ?

(a) Q62] (b) J156Q (c) 162Q (d) JI58Q

110. Pointing towards Bhuvan, Madhu said, “He is the son of only son of my father”. How is
the mother of Bhuvan related to Madhu ?

(a) Sister (b) Sister-in-law
(c) Daughter (d) Aunt

111. Find the missing number in the third triangle :

8 126 3 7 2
(a) 18 (b) 46 (c) 80 (d 70

112. Fill in the blank :
4,6, 12, 14, 28,30, ?

(a) 32 (b) o4 (c) 62 (d 60

113. ‘A’ is twice as good a workman as ‘B’ and together they finish a work in 18 days. In how
many days ‘A’ alone will finish the work ?

(a) 31 days (b) 25 days (c) 27 days (d) 29 days

114. The ratio between the speeds of two trains is 7 : 8. If the second train runs 400 kms in
4 hours, then the speed of the first train is :

(a) 70 km/hr. (b) 75 km/hr. (c) 84 km/hr. (d) 87.5 km/hr.

115. Anil after travelling 6 km towards East from his house realized that he has travelled in
wrong direction. He turned back and travelled 12 km towards West, then turned right and
travelled 8 km to reach his office. The straight distance of his office from his house is

(a) 12km (b) 14 km (¢) 10km (d 20km
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113.
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SPR

XA 1 212,000/, If g9 10.5% 1 &R H 3 Y o foT ARl TS IR SR oY, STafds g
F I B gERIRT AT & FHI & [T 10% AT Fshglg TS Bl &R | IR ol | foha
SATET GRTIRT &1 3R et 31ferep 2

(a) 9,132 (b) A, 145 (c) g, %2158  (d) NIgdA, %192

O 3fR I Y31 D1 MY BT HEIHTT 27 9 & | 18 ATl o 1 U1 bl MY U Y3 Bl 1Y
DI ST BT | ST a1 AT HHAT: B
(a) 42,12 (b) 40,14 (c) 30,24 (d) 36,18

9 G AT BT IMTATIG B
B2E, D5H, F12K, H27N, 2 .

(a) Q62J (b) J56Q () 162Q (d) J58Q
Y&+ B AR FART R §UY 9 7 HET, “g8 AN U1 & Shelld 9 BT AT & 7 B - Bl
HI 7Y | FHEET B 2
(a) w81 (b) Wt (c) (d) =
e \ﬂffqlbd H@ulslldaﬁﬁm
(c) 70
RESESIRKINE
4,6,12,14,28,30, 2
(a) 32 (b) 64 (c) 62 (d) 60
‘A B’ AT 3BT HHBR & AR a1 G H 18 =1 4 fbdl B &l qRT AR 8 | A’
3ol I BIH P feber fa= H YRT BT 2
(a) 31fad (b) 25fa (c) 27fad (d) 29faq
ST S bl T b 1< T AU 7 : 8 B 1 MR T o 4 TS H 400 b Y, 1 T8 T el

ERIRESI ﬁ:f CARISRIRIE
(a) 70 fo.#t. ufad goer (b) 75 fo.Ht. ufa goer
(c) 84 f&. . ufadgver (d) 87.5 kAN ufraver

3ffrer ¥ 379 TR ¥ g faem H 6 fob 1. &1 g3 97 R b d1e Hgd (a1 P 39 Terd
ferem d g9 T 1 | T8 arfoRy AT SR ufegd faen 4 12 f Al &1 g3 99 @Y, R SRl sk
FHBR AU BT g o & (7Q 8 b #1. BT T T BT | AP &R | Brerd B Aedl g2
[ERRIEN

(a) 12fedAL (b)) 14fHHAL (c) 1ofeH. (d) 20f&HH.
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116.

117.

118.

119.

120.

121.

122.

123.

124.

Find the missing number.

715 | 6
31 2 |1
9 | 6 | ?
@ 5 (b) 6 (© 7 (d) 8

Free note books were distributed equally among children of a class. The number of
1
notebooks each child got was gth of the number of children. Had the number of children

been half, each child would have got 16 notebooks. In total how many notebooks were
distributed ?

(a) 256 (b) 432 (c) 512 (d) 640

In a certain code BREAKTHROUGH is written as EAOUHRBRGHKT. How is
DISTRIBUTION written in that code ?

(a) STDIBURIONTI (b) STTIBUDIONRI
(c) TISTBUONDIRI (d) STTIBUODRIDI

A man is facing towards West and turns through 45° clockwise, again 180° clockwise and
then turns through 315° anti-clockwise. In which direction is he facing now ?

(a) West (b) West-South
(c)  South (d) North

In a mixture of 60 litres, the ratio of milk and water is 2 : 1. To make this ratio 1 : 2, what
quantity of water (in litres) is to be added to the mixture ?

(@ 30 (b) 60 (c) 90 (d) 100

If one-third of one-fourth of a number is 15, then three-tenth of that number is
(a) 34 (b) 46 (c) 49 d 54

A clock is started at 12 o’clock noon. By 10 minutes past 5, the hour hand has turned
through

(a) 145° (b) 150° (c) 155° (d) 160°

39 persons can repair a road in 12 days, working 5 hours a day. In how many days will
30 persons, of same efficiency working 6 hours a day, complete the work ?

(@ 10 (b) 13 (c 14 (d 15

The difference between a two digit number and the number obtained by interchanging the
positions of its digits is 36. What is the difference between the two digits of that number ?

(a 4 b 9 (c 12 (d) 16
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T AT ST DI |
715 ] 6
3] 2 | 1
9 | 6 | ?
@ 5 b 6 © 7 d 8

YRIBIAT D! FH U I T d31 &b qeai H Jud H (IR a1 77 | G131 &1 6t Sl
RIS g=d DI e, Iedi Bl TAT BT 1/8 al AR T | 3FR Feai &I AT Bl 377eT $R a1
ST, A1 I dedd bl 16 YRIIBTC (Hel STl | Pl fober=il GRTep1aTi b faaRor foham a1 2
(a) 256 (b) 432 (c) 512 (d) 640

foret fAf$ad ®Is § BREAKTHROUGH @I EAOUHRBRGHKT forar Sirdr 8, S¥l #rs H
DISTRIBUTION & feT=aT SITQT 2

(a) STDIBURIONTI (b) STTIBUDIONRI

(c) TISTBUONDIRI (d) STTIBUODRIDI

T 3TEH! T 8 UlRad &l 3R § 3R I8 45° SRIUME gAaT 2, 3R v 180° Sfarourai
AT © TG IRTT 315° AT A1 & | 319 SHST 48 [hd e 1 3R § 2
(a) ufzew (b) ufEEmefror  (c) = d TR

Teh 60 ey o MASTOT H & 3fIR UTHT 1 U 2 : 12 | S U Bl 1 : 2 B b oY
fRrs1o1 3 fore= aT= (cfiex #) frerrr g 2
(a) 30 (b) 60 (c) 90 (d) 100

IfS Th TT b Uh-ANATS Bl Uh-fI8Ts 15 B, 1 9 W= Bl diH-9d1 2
(a) 34 (b) 46 (©) 49 d) 54

T IS Dl QISR H 12 o Y (AT ST 8 | IUC B Y BT gHTd 5 I9h) 10 e b
BT :

(a) 145° (b) 150° (c) 155° (d) 160°

U ASH Pl 39 AT 12 o9 H, 5 G0 BRI HRPp AT B Adhd © df fbd- fod 4 991+
q&aTaTet 30 TR UlIfa™ 6 HUC B DR, §9 BIY Dl GRT BNl 2
(a) 10 (b) 13 (c) 14 (d 15

TP SI bl B TR BT, 3P bl B YT H RART gao@ IR YT =1 9, TR 36 7 |
S AT & S 3hl & g H SR RITE 2
(a) 4 (b) 9 (c) 12 (d 16
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125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

Major Somnath Sharma who was honoured with Paramveer Chakra posthumously in 1947
belonged to
(a) GorkhaRifle (b) Garhwal Rifle (c) DograRegiment (d) Kumaon Regiment

The Lakhu cave having ancient rock paintings is located in
(a) Chamoli district (b) Nainital district
(¢) Haridwar district (d) Almora district

The court language of Katyuris was
(a) Kumaoni (b) Garhwali (¢)  Sanskrit (d) Prakrit

The pass connecting Darma and Byans Valley is
(a) Sinla (b) Unta (c) Jyatia (d) Ramal

The objective of forming the “Praja Mandal” was a
(a) to get freedom from British Rule

(b) to get freedom from Gorkha Rule

(c) to organise people for social reform

(d) to free the people from misrule of Tehri State

The Khatling glacier is the origin-place of
(a) Jalkur river (b) Bhilangana river
(c) Pilang Ganga river (d) Balganga river

Which of the following is not a foot hill town ?
(a) Tanakpur (b) Kotdwar (c) Rudrapur (d) Haridwar

The famous ‘Kailash-Manasarovar Yatra’ passes through
(a) Nitipass (b) Lipulekh pass
(c) Lampiya Dhura pass (d) Barahoti pass

Which one of the following is not a railway terminus point in Uttarakhand ?
(a) Kathgodam (b) Dehradun (¢) Kotdwar (d) Laksar

In which district does the “Nandhaur Dun” lie ?
(a) Udham Singh Nagar (b) Nainital
(¢) Garhwal (d) Haridwar

In the Himalaya, the “Main Central Thrust” (MCT) separates
(a) Lesser Himalaya and Outer Himalaya

(b)  ‘Dun’ valleys and the Shivaliks

(c) Greater Himalaya and Trans-Himalaya

(d) Greater Himalaya and Lesser Himalaya
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125. 1947 3. ¥ HRONURT URTAR Teh I FHTT fohT ST aTel AR A1) 99T Frferd o

(a) TIREIIEHA A (b) AT ASHA A

(c) SFRRINSIFT A (d) FAS T |
126. YT Sretferal arefl oy b fRya 8

(a) TN T H (b) AT RTar #

(c) BRERRFIH (d) orereT Tl |
127. ST BT SRARY AT A7 -

() PHIS (b) ATl (c) %P (d) uThd
128. SRH1 T G =Ifed] Bl Sire+ ITel a1 8

(a) Taem (b) Fel (c) SgTferaT (d) XA

129. “USTT HUSS Bl IATYAT BT S AT
(a) Tafeer o= | wad=dr e &=
(b)  TRET I I TIT=AT YT BRAT
(c) T Bl FHTSI-FUR T AT BRAT
(d) STIAT Bl [EB TSI o PR I ol DAl

130. TdfelT f29-e S W 2

(a) STeIpR AT Bl (b) freHET I @1

(c) TOoiT M=t &1 (d) ST AT BT
131. f=flRad 9 &9 91 gdaus iy TR T8I 8 2

(a) CSTdOR (b) PICER () BsR (d) ©BRER
132. GIRTE “BARI-ATTERIGR AT [ORT &

(a) FHERy (b) foqe@aR¥

(c) CIRITERIE | d) deRENd
133. fr=iforRad # &9 g STRIETS # Vol AT o1 ffwaH fag 781 € 2

(a) hISIIGM™ (b) égmgq (c) PICER (d) OTRR
134. TER g b Sve d I 8 2

(a) STIRETR@D) - (c) Tedrdd (d) BRER

135. T2HATer H =0 HMT =T (MCT) Y BT &
(a) T 3T Ud a1ad f3e e &,
(b) g7 =il vd Rrarfers AfOrdT b1
(c) W& f&aTerd ud fRATe-uR &5 &l
(d) ¥ fRHTery vd oy fenTery ol
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136. The historical name of Uttar Kashi is
(a) Saumyakashi (b) Shrikshetra (c) Gangotri (d) Barahat

137. During which period did the Colonial conflict start in Uttarakhand ?
(a) Mughal period (b) Gorkha period (c¢) Dogra period (d)  British period

138. Which of the following was known as ‘Kubjamrak’ in ancient time ?

(a) Rishikesh (b) Devprayag (c) Haridwar (d)  Srinagar
139. In which language are the ‘Pandukeshwar copper plates’ written ?

(a) Pali (b)  Prakrit (¢)  Sanskrit (d) Armike
140. In which of the following dances, the song is not sung ?

(a)  Chhopti (b) Johra (c) Chhapeli (d) Chholia
141. The ‘Dhawaj Temple’ of 9" century in Dwarahat is also known as

(a) Maha Mrityunjay Temple (b) Katarmal Temple

(¢) Gujardev Temple (d) Kachheri Temple
142. Which of the following tribes worship the deity ‘Bhumsen’ ?

(a) Tharu (b) Boxa (c) Jaad (d) Bhotia
143. ‘Brass City’ in Uttarkhandis being set-up at

(a) Bajpur (b) Rudrapur (c) Pithoragarh (d) Almora
144. In which year will the 38" National Games be organized in Uttarakhand ?

(a) 2016 (b) 2017 (c) 2018 (d) 2020
145. Which city of Uttarakhand was recently ranked 61" in the list of ‘Clean Cities’ of India ?

(a) Dehradun (b) Roorkee (c) Haldwani (d) Haridwar
146. The President’s Rule in Uttarakhand was enforced on

(a) 20" March, 2016 (b) 25" March, 2016

(c) 27" March, 2016 (d) 29" March, 2016

147. Which of the following is dominant in heredity ?
(a) Albinism (b) Rh-factor (c) Color blindness (d) Haemophilia

148. The drug produced through biotechnology for cancer treatment is
(a) Interferon (b) Insulin (¢) H.G.H. (d T.S.H.

149. How many lobes are found in human lungs ?
(@ 2 (b 3 © 4 (d 5

150. The bird that can move its upper jaw is
(a) Pigeon (b) Parrot (¢) Vulture (d) Sparrow
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136. STRGBTIN &1 VARG T B
(a IRHERN (b)) e (c) T (d) dI=SEC

137. ITRIGUS H AMIFARIE oy b Brel H YR gafT 2
(a) FTADA  (b) TRE Bl (c) SIRIBIA (d) fafeorara

138. 9T GHY H 91 3 | Peotdeh b oY H ST ST AT 2

(@) D (b) AT (©) BRER d) #TR
139, “qIUgHeaR AR’ e AT H foRd MU & 2

(a) et (b) HTHd () W|E&pd d) 3IRAED
140. F=iferRad 9 & fora 7o 9 Ma T AT Sar g 2

(a) B (b) ST (c) Bl (d) wiferT
141. ERTEIC ¥ T Trrea] & &ao AfaR BT U =T 19 A W SIH1 STl

(a) HEMYST Hfax (b) HRHA HGR

(c) ToRadAfER (d) HoI AR
142. F=fIRad H 19 At SIS YA™T Sadl Bl YoTl Rl 8 2

(a) U™ (b) T (c) ©Ilg (d) wfe
143. STRIGUTS § Yidel TR B AT B off Y&l &

(a) TSTRH (b) BEYRHA (c) faRTGH (d) oreHISIH
144. STIRTGUS § 389 IME T Wl fobsg I8 H AT BT 2

(a) 2016 (b) 2017 (c) 2018 (d) 2020
145. STRIEUS & (5 ER B BT &1 3§ AR & WI<0 W DI Gl 1 6131 W a8 2

(a) <BNIGT (b) TShI (c) Begml (d) BRER
146. STRIGUS H IEUTT S 1Y g3

(a) 209, 2016 Bl (b) 259, 2016 BT

(c) 27 9Td, 2016 BT (d) 299, 2016 Bl
147. STaifiret # 771 9 9 S 991t © 2

(a) ITHEAAT (b)) JIRTA. haex (¢) e (d) SrfeRTTATg

148. 519 WENRT®T gRT SR & $oATST & foTT IR Bl T N &
(a) FeX(BRIA (b)  ggford (c) TASTa. (d) <dluaya.

149. AT & B H [ 9N (FUE) IR I & 72

(a) 2 (by 3 (c) 4 d 5
150. T&T S 31T SHU TSl fEell Ahdl &
(a) PR (b) I ¢ frg (d) TR
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